

Lot	Title	Start Price
l		FIICE

1	Lot of Sunshine Fine Silver Bars & Rounds (Tax Exempt). You will receive 3x 1oz Rounds, and 3x 1oz Bars. 6pcs.	\$1.00
2	1988 & 1989 1oz Fine Silver Maples Sealed in Original RCM Packaging (Tax Exempt). Please note 1989 is toned. 2pcs.	\$1.00
3	Pair of 2018 Niue \$2 Stormtrooper 1oz999 Silver Coins (Tax Exempt). 2pcs.	\$1.00
4	2016 Australia \$2 Year of the Monkey 2oz Fine Silver Coin (Tax Exempt). Coin comes Encapsulated.	\$1.00
5	Lot of China Pandas Fine Silver - 2013 1oz, 2014 1oz, & 2016 30g (Tax Exempt). Coins come Encapsulated. 3pcs.	\$1.00
6	The Privateer Collection - The Storm 2 oz. Ultra High Relief Silver Round (#1). Tax Exempt	\$1.00
7	Lot of 2012-2016 Canada \$20 For \$20 Fine Silver Coin Collection. You will receive 2012 Polar Bear, 2013 Wolf, 2013 Iceberg, 2015 FIFA, and 2016 Batman vs. Superman. All coins come Encapsulated (TAX Exempt). 5pcs.	\$1.00
8	2012 Australia \$1 Year of the Dragon with Lion Privy 1oz Fine Silver Coin (TAX Exempt).	\$1.00
9	Set of 2016 Canada \$5 Predator Series - Cougar Fine Silver Coins (Tax Exempt). 5pcs.	\$1.00
10	2 oz Fine Silver Bullet .308 (TAX Exempt)	\$1.00
11	SKULL Monarch Precious Metals - 3oz. Hand Poured .999 Silver (TAX Exempt).	\$1.00
12	Pair of 2017 Canada \$5 1oz999 Fine Silver Maple Leafs - Panda Privy & Canada 150th Privy (Tax Exempt). Both coins come Encapsulated. 2pcs.	\$1.00
13	2013 Canada \$8 Polar Bear 1.5oz Fine Silver Coin & 2016 Canada \$8 Bison 1.25oz Fine Silver Coin (TAX Exempt). Please note Polar Bear is toned. 2pcs.	\$1.00
14	Lot of Monarch 1/2oz Fine Silver Butterfly coins (Tax Exempt). 3pcs.	\$1.00
15	Silver Shield 1oz Fine Silver Coin Lot (Tax Exempt). You will receive: "Don't Tread on Me", "Standing Freedom" and "You Don't Own It if You Don't Hold it". 3pcs	\$1.00
16	2016 & 2017 Canada \$5 Predator Series 1oz999 Fine Silver Coins - 2016 Cougar & 2017 Lynx (Tax Exempt). 2pcs.	\$1.00
17	Sheet of Johnson Matthey 1oz Fine Silver Bars 'B Series' (Tax Exempt). Bars come sealed in the Original plastic sheet. 6pcs.	\$1.00
18	Vintage 10oz Johnson Matthey United States 10oz Fine Silver Bar with JM Logo (Tax Exempt). Bar is toned.	\$1.00
19	Canadian PMX 1oz Fine Silver Bars (Tax Exempt). Bars may be toned. 4pcs.	\$1.00
20	Lot of 3x Lunar 1oz999 Fine Silver Bars - 2016 Monkey, 2017 Rooster, and 2018 Dog (Tax Exempt). Bars are still sealed in Original Wrap.	\$1.00

Lot	Title	Start
Lot	Title	Price

21	SKULL Monarch Precious Metals 2oz Fine Silver (TAX Exempt).	\$1.00
22	First Majestic 1oz Mayan Fine Silver Rounds (Tax Exempt). Please note Rounds are toned. 5pcs.	\$1.00
23	Pair of 2016 Canada \$5 Privy Silver Maple Leafs (Tax Exempt). You will receive the Four-Leaf Clover, and V Tank Privy Coins. 2pcs.	\$1.00
24	2016 Soccer & 2017 Basketball Monarch 1oz 3D Fine Silver Rounds (Tax Exempt). Please note coins may have light toning or marks. 2pcs	\$1.00
25	Pair of Canada \$2 3/4oz999 Fine Silver Coins - 2015 Grey Wolf & 2016 Howling Wolves (Tax Exempt). 2pcs.	\$1.00
26	Pair of Australia 1oz999 Fine Silver Coins - 2015 Funnel-Web Spider & 2016 Kangaroo (Tax Exempt). Please note coins are toned. 2pcs.	\$1.00
27	OPM Metals USA 1 Kilo Fine Silver Bar (TAX Exempt).	\$1.00
28	2004 Desjardins & 2005 Victory Canada \$5 Privy Silver Maples (TAX Exempt). Please note coins may be toned. 2pcs.	\$1.00
29	Pan American Silver Corp NWT 10oz Fine Silver Bar (TAX Exempt).	\$1.00
30	Sunshine Minting Inc. 10oz Fine Silver Bar (TAX Exempt).	\$1.00
31	Vintage Johnson Matthey USA 5oz Fine Silver Bar with JM Logo (Tax Exempt). Serial # 060364	\$1.00
32	Vintage Johnson Matthey USA 5oz Fine Silver Bar with JM Logo (Tax Exempt). Serial # 062121	\$1.00
33	Scotiabank 10oz Fine Silver Bar (TAX Exempt). Bar is toned.	\$1.00
34	Johnson Matthey 10oz Fine Silver Bar with JM Logo in Original Wrap (TAX Exempt). Serial # 650894	\$1.00
35	Lot of Vintage Johnson Matthey 1oz Fine Silver Bars 'JM Logo' (TAX Exempt). 3pcs	\$1.00
36	Lot of Vintage Johnson Matthey 1oz Fine Silver Bars with Consecutive Serial Numbers (TAX Exempt). # 367551, 367552, 367553. 3pcs	\$1.00
37	Lot of Johnson Matthey 1oz Fine Silver Bars 'B Series' Sealed in Original Wrap (TAX Exempt). 4pcs.	\$1.00
38	Monarch Precious Metals 5oz Fine Silver Bar (TAX Exempt).	\$1.00
39	Lot of Beaver Bullion 1oz Fine Silver Bars (TAX Exempt). 3pcs.	\$1.00
40	Lot of Pan American Silver Corp NWT 1oz Fine Silver Rounds (TAX Exempt). Coins are toned. 10pcs	\$1.00
41	Lot of 2012 Canada \$5 Wildlife - Moose 1oz Silver Maples (TAX Exempt). Please note coins may be toned. 5pcs.	\$1.00

42	2008, 2009, & 2010 Canada \$5 Olympic 1oz Fine Silver Maples (TAX Exempt). Coins contain spotting. 3pcs	\$1.00
43	Pair of 2016-2017 Great Britain 2oz Queen's Beasts Fine Silver Coins (TAX Exempt). You will receive the 2016 Lion of England and 2017 The Griffin. 2pcs.	\$1.00
44	2015-2017 Rwanda 1oz Fine Silver Coins (TAX Exempt). You will receive the 2015 African Buffalo, 2016 Meerkat, and 2017 African Hippo. Coins come sealed in the Original Wrap. 3pcs.	\$1.00
45	2016 & 2017 30 gram China Pandas Fine Silver Coins (TAX Exempt). Coins come Encapsulated. 2pcs.	\$1.00
46	2012 Australia 1oz Fine Silver Koala & 2014 Australia 1/2oz Fine Silver Koala (TAX Exempt). Coins come Encapsulated (capsules are scuffed, and 2014 is cracked). 2pcs.	\$1.00
47	Mixed Lot of 1oz Fine Silver Rounds (TAX Exempt). Coins come Encapsulated (coins are toned and capsules are scuffed/cracked). 5pcs.	\$1.00
48	KEY DATES! 1996 & 1997 Canada \$5 Fine Silver Maples Sealed in Original RCM Wrap (TAX Exempt). 2pcs.	\$1.00
49	2013 Australia Year of the Snake 1/2oz. & 1oz Fine Silver Coins (TAX Exempt). 2pcs.	\$1.00
50	2009-2012 Mexico Libertad 1oz Fine Silver Coins (TAX Exempt). You will receive one of each date from 2009 to 2012. Please note coins are toned. 4pcs.	\$1.00
51	Lot of Sunshine 1oz Fine Silver Buffalo Rounds (TAX Exempt). Please note coins are toned/marked. 5pcs.	\$1.00
52	1988 & 1989 Canada \$5 1oz Fine Silver Maples Sealed In Original RCM Wrap (TAX Exempt). You will receive 2x 1988 and 2x 1989. Please note plastic wrapping is stained. 4pcs.	\$1.00
53	Lot of 1/2oz Fine Silver Rounds (TAX Exempt). You will receive three different designs (coins are toned). 3pcs.	\$1.00
54	Lot of United States 1/4oz Fine Silver Walking Liberty Coins (TAX Exempt). 6pcs.	\$1.00
55	Lot of 2016 Canada \$5 Superman Shield 1oz Fine Silver Coins (TAX Exempt). 3pcs.	\$1.00
56	2012-2013 Canada \$5 Wildlife 1oz Fine Silver Coins (TAX Exempt). You will receive the 2012 Moose, 2012 Cougar, and 2013 Antelope. 3pcs.	\$1.00
57	Lot of A-Mark Liberty Silver 1oz Fine Silver Rounds (TAX Exempt). 3pcs.	\$1.00
58	Day of the Dead 2oz Silver Sugar Skull - Monarch Precious Metals Poured Bar (TAX Exempt).	\$1.00
59	Lot of 2011 Canada \$5 Grizzly Silver Maples (TAX Exempt). Please note coins have milky toning. 4pcs.	\$1.00
60	1991-1993 United States 1oz Fine Silver American Eagles (TAX Exempt). 3pcs	\$1.00
61	2014 Bald Eagle & 2014 Peregrine Falcon Canada \$5 1oz Fine Silver Coins (coins have some spotting). TAX Exempt. 2pcs.	\$1.00
62	Lot of 2016 Canada \$5 Privy Silver Maples (TAX Exempt). You will receive the Panda Privy, Yin Yang Privy, and Wolf Privy. Please note coins may have toning. 3pcs.	\$1.00

Lot	Title	Start
LOC	Title	Price

63	2016 Somali Elephant & 2016 Great Britain Year of the Monkey 1oz Fine Silver Coins (TAX Exempt). Please note coins may be toned. 2pcs.	\$1.00
64	Pair of 2004 Canada \$5 Privy Mark 1oz999 Silver Maple Leafs - Pisces & Cancer Privy. Sealed in Original RCM Wrap with COAs (TAX Exempt). 2pcs.	\$1.00
65	Lot of 5x 0.25oz Heart Shaped Beaver Bullion .999 Fine Silver (TAX Exempt). 5pcs	\$1.00
66	SCARCE! Monarch RIP 2oz Fine Silver Tombstone Bar (TAX Exempt). Serial # 192	\$1.00
67	Group Lot of 3x .999 Fine Silver Skull & Bullets - 4oz. Total Silver (TAX Exempt). You will receive the 2 oz Silver Bullet .308, 1 oz Silver bullet .45 Caliber AC, and 1oz Silver Skull. 3pcs	\$1.00
68	38 Caliber (38 grams) Fine Silver 'Gun' Monarch Precious Metals (TAX Exempt).	\$1.00
69	Pair of 2004 Canada \$5 Privy Mark 1oz999 Fine Silver Maple Leafs - Sagittarius & Libra Privy (TAX Exempt)9999 Pure Silver with a Limited Mintage of 5000 Coins Worldwide. Both come Sealed in Original RCM Wrap with COAs. 2pcs	\$1.00
70	Lot of Fine Silver Beaver Bullion - Total 1.75 oz. of Silver (TAX Exempt). You will receive the .25oz Heart, .50oz Snowflake, and 1oz Skull.	\$1.00
71	Pair of 2016-2017 Somalia 1oz Fine Silver Elephants (TAX Exempt). 2pcs. May contain faint spots	\$1.00
72	Lot of 3x 1oz .999 Fine Silver Mexican Libertads Dated 1984, 1985 & 1986 (coins have toning). 3pcs (TAX Exempt)	\$1.00
73	5oz & 100 Gram Scottsdale Mint .999 Fine Silver Stacker Rounds. 2pcs (TAX Exempt)	\$1.00
74	2017 Canada \$50 Magnificent Maple Leaves 10oz Fine Silver Coin (TAX Exempt)	\$1.00
75	Cleopatra 2oz High Relief Fine Silver Round (TAX Exempt).	\$1.00
76	2014 Royal Australian Mint 5oz Year of the Horse .999 Fine Silver Coin in Attractive Packaging (TAX Exempt)	\$149.00
77	Vintage 1987 Engelhard 10oz Fine Silver Bar 'C Series' (TAX Exempt). Serial # C853194	\$1.00
78	Wall Street Mint 10oz Fine Silver Bar with NYC Skyline (TAX Exempt).	\$1.00
79	Vintage Engelhard 10oz Fine Silver Bar -11th Series - P Variation (TAX Exempt). Serial # P429102	\$1.00
80	Pair of Vintage 1982 Johnson Matthey 1oz Fine Silver Bar with TD Logo (TAX Exempt). 2pcs.	\$1.00
81	1988, 1989, 1990 & 1991 Canada 1oz .999 Fine Silver Maple Leafs in Original RCM Pliofilm (TAX Exempt). 3pcs	\$1.00
82	3.8 oz of .999 Fine Silver Fractional Rounds (Tax Exempt). You will receive: $5x  1/2oz$ , $2x  1/4oz$ , & $3x  1/10$ th oz Fine Silver Rounds.	\$1.00
83	3x 2011 Canada \$5 Wildlife Series - Wolf 1oz .9999 Fine Silver Coins (Tax Exempt). Toned/spots. 3pcs	\$1.00

Lot	Title	Start Price
		· · · · · · · · · · · · · · · · · · ·
84	2008 Olympic, 2009 Raven & 2010 Hockey 1oz .9999 Fine Silver Maple Leaf Coins (Tax Exempt). Toned/spots. 3pcs	\$1.00
85	3x 2015 Canada \$5 Birds of Prey - Red-Tailed Hawk 1oz999 Fine Silver (TAX Exempt) toned. 3pcs	\$1.00
86	4x 2012 Canada \$5 Wildlife Series - Cougar 1oz .9999 Fine Silver Coins (Tax Exempt). Toned/spots. 4pcs	\$1.00
87	1992, 1993, 1994 & 1995 Canada 1oz .9999 Fine Silver Maple Leafs (TAX Exempt). Toned. 4pcs	\$1.00
88	1997, 1998, 1999, 2003 & 2005 Canada 1oz .9999 Fine Silver Maple Leafs (TAX Exempt). Toned. 5pcs	\$1.00
89	1989 & 1999 Canada 1oz .9999 Fine Silver Maple Leafs (Tax Exempt). You will receive 2x 1989 & 2x 1999 (coins are toned). 4pcs	\$1.00
90	4x 2011-2013 Canada \$5 Wildlife Series 1oz .9999 Fine Silver Coins (Tax Exempt). You will receive 2011 Wolf, 2012 Moose, 2012 Cougar & 2013 Antelope (toned/spots). 3pcs	\$1.00
91	5x 2016 Canada \$5 Privy Mark 1oz .9999 Fine Silver Maple Leafs (TAX Exempt). You will receive: Wolf, Grizzly, Big Foot, Monkey & Four Leaf Clover (toned/spots) 5pcs	\$1.00
92	5x 2014-2016 Canada \$5 Privy Mark 1oz .9999 Silver Maple Leafs. You will receive: 2014 Horse Privy, 2015 Sheep Privy, 2016 Four Leaf Clover Privy, 2016 Wolf Privy and 2016 Grizzly Privy Silver Maple Leafs (TAX Exempt). Coins contain toning spots. 5pcs	\$1.00
93	4x 2016 Canada 1oz \$5 Cougar: Predator Series - Fine Silver Bullion Coin (TAX Exempt). 4pcs	\$1.00
94	2013 Polar Bear, 2014 Arctic Fox, & 2015 Super Leaf \$8 1.5oz Fine Silver Coins (Tax Exempt)- Toned.	\$1.00
95	The Privateer Collection - The Storm Ultra High Relief 2oz999 Fine Silver Coin (TAX Exempt) - Toned	\$1.00
96	2x 2017 Great Britain 2 oz. Silver Queen's Beasts - The Griffin (TAX Exempt) - Toned	\$1.00
97	2016 Tuvalu \$1 1oz. Star Trek Original U.S.S. Enterprise, 2017 Niue \$2 1oz. Darth Vader & 2018 Tuvalu \$1 Marvel Series - Thor 1 oz. Silver Coins (Tax Exempt). Coins are toned/spotted. 3pcs	\$1.00
98	2011, 2012 & 2015 Fiji Turtle 1oz .999 Fine Silver Coins (Tax Exempt) - toned. 3pcs	\$1.00
99	2015 Congo Silver Back Gorilla, 2016 African Elephant & 2017 African Hippo 1oz .999 Fine Silver Coins (TAX Exempt). 2016 Elephant is toned. 3pcs	\$1.00
100	Lot of 3x Australia \$1 1oz999 Fine Silver Coins - 2016 Koala, 2016 Year of the Monkey & 2018 Australia Kookaburra (TAX Exempt). Kookaburra is toned. 3pcs	\$1.00
101	Lot of 3x China Panda .999 Fine Silver Coins - 2011 1oz., 2016 & 2017 30 Grams (TAX Exempt) - Toned. 3pcs	\$1.00
102	5x Miscellaneous 1oz .999 Fine Silver Rounds (TAX Exempt). Some coins are toned. 5pcs	\$1.00
103	1991 & 1996 United States 1oz .999 Fine Silver Eagles (TAX Exempt) - toned. 4pcs	\$1.00

Lot	Title	Start Price
104	5x Miscellaneous 1oz .999 Fine Silver Bars (TAX Exempt). Some coins are toned. 5pcs	\$1.00
105	6oz of .999 Fine Silver (Tax Exempt). This lot includes: 1oz Beaver Bullion, 1oz Atlantis Mint Hand-Poured Bar, 1oz Bison Bullion, 1oz Beaver Bullion Canada Flag & 2oz Silver Bullet .999 Fine Silver (TAX Exempt). 5pcs	\$1.00
106	2x 2oz Monarch Precious Metals - Limited Edition Tombstone Witch 2oz. Silver. Bar # 246 & 247 (Tax Exempt). 2pcs	\$1.00
107	2x 3oz Monarch Precious Metal Fine Silver Bars (TAX Exempt). 2pcs	\$1.00
108	5oz .999 Fine Silver Apmex bar (Tax Exempt)	\$1.00
109	Monarch Precious Metals 10oz .999 Fine bar (TAX Exempt).	\$1.00
110	1988 Year of the Dragon & 2005 Seasons Greeting 1oz .999 Fine Silver Coins (TAX Exempt). Toned. 2pcs	\$1.00
111	6x 1oz .999 Fine Silver Bars (TAX Exempt). Lot Includes 4x Johnson Matthey and 2x Metal Art Company Fine Silver Bars in Vintage Birks box. 6pcs	\$1.00
112	2017 Monarch Precious Metals 5 oz 999 Fine Silver Round - Grim Reaper Ultra High Relief With Display Box (TAX Exempt)	\$1.00
113	5x 2011 Canada 1oz Silver Maple Leaf Coins (Tax Exempt) - toned. 5pcs	\$1.00
114	2000 Dragon Privy Mark 1oz. \$5 Silver Maple Leaf (TAX Exempt).	\$1.00
115	2013 25th Anniversary & 2013 Snake Privy 1oz Silver Maple Leafs (TAX Exempt). Toning Spots. 2pcs	\$1.00
116	1988, 1994 & 2001 Canada 1oz .999 Fine Silver Maple Leaf with Display Box (TAX Exempt) - toned. 3pcs	\$1.00
117	2013 Andorra Silver Privy Mark F15 Golden Eagle .999 Fine Silver Coin (TAX Exempt) - scuffed capsule	\$1.00
118	Pair of 1999-2000 Fireworks Privy Mark 1oz .9999 Fine Silver Maple Leafs with red Display Box (TAX Exempt) - toned. 2pcs	\$1.00
119	1994 & 1999 Canada 1ox Silver Maple Leafs with Display Box (TAX Exempt) 2pcs	\$1.00
120	1994 & 2011 Canada 1ox Silver Maple Leafs with Display Box (TAX Exempt) 2pcs	\$1.00
121	2004 D-Day & 2004 Desjardin Privy Mark 1oz .9999 Fine Silver Maple Leafs with Display Box (TAX Exempt). 2pcs	\$1.00
122	2017 South Africa 1oz Fine Silver Krugerrand (TAX Exempt). Celebrate the 50th anniversary of the Original gold Krugerrand!	\$44.00
123	2004 Majestic Moose \$5 & 2004 Great Grizzly \$8 Fine Silver Coin in Black Leatherette Display (coins from the RCM coin and stamp sets) - Tax Exempt	\$1.00
124	2009 Australian Koala 1oz .999 Fine Silver Coin with Colourful Display Card (TAX Exempt)	\$1.00

|--|

125	2004 Canada Aquarius Privy Mark 1oz. Silver Maple Leaf (TAX Exempt) - Toned	\$1.00
126	2015 Canada \$5 1oz Red Enamel Silver Maple Leaf (Mint set issue only) -Tax Exempt	\$1.00
127	2005 Cook Island \$1 Fire Engine of the World 1oz Fine Silver Coin (TAX Exempt)	\$1.00
128	1994 United States 1 oz Proof Silver American Eagle coin with Display Box and Certificate (TAX Exempt)	\$39.00
129	Hand Poured 2.13 oz .999 Fine Canada Silver Saver Maple Leaf Shaped Bar (TAX Exempt)	\$1.00
130	2 x 2016 Canada \$5 Panda Privy Mark \$5 1oz. Silver Maple Leaf (TAX Exempt) 2pcs	\$1.00
131	5x Hand Poured Monarch Precious Metals 1 oz .999 Fine Silver Bar (TAX Exempt). 5pcs	\$1.00
132	2016 Canada Superman's Shield & 2017 Canada 1 oz - 150th Special Edition Voyageur Silver 1oz .999 Fine Silver Coins (TAX Exempt) 2pcs	\$1.00
133	2x The Privateer Series Coins - The Whale & The Captain 2oz .9999 Ultra High Relief Fine Silver (TAX Exempt). 2pcs	\$1.00
134	Pair of Niue \$2 Star Wars 1oz999 Fine Silver Coins - 2017 Darth Vader & 2018 Stormtrooper (TAX Exempt) 2pcs	\$1.00
135	Pair of Tuvalu \$1 Marvel Series 1oz999 Fine Silver Coins - Spider-Man & Thor (TAX Exempt) 2pcs	\$1.00
136	2x 2014 Canada Five Blessings 1oz. Fine Silver Maple Leaf (TAX Exempt). 2pcs	\$1.00
137	Monarch Mint 3D Soccer Ball & Monarch Mint 3D Basketball 1 oz999 Fine Silver Rounds (TAX Exempt). 2pcs	\$1.00
138	2017 & 2018 Australia \$1 Kookaburra 1oz999 Fine Silver Coins (TAX Exempt)	\$1.00
139	Pair of 2018 Australia \$1 1oz999 Fine Silver Coins - Kangaroo & Year of the Dog (TAX Exempt) 2pcs	\$1.00
140	2017 Year of the Rooster & 2018 Year of the Dog 1oz999 Silver Bars (TAX Exempt) 2pcs	\$1.00
141	2017 Republic of Ghana 5 Cedi African Leopard, 2018 Tokelau \$5 Leopard Shark & 2018 Niue \$2 Hawksbill Turtle 1oz. Fine Silver Coins (Tax Exempt) 3pcs	\$1.00
142	2018 Australia \$2 Year of the Dog 2oz. Silver (TAX Exempt)	\$1.00
143	2 oz Engelhard .999+ Fine Silver Bar (TAX Exempt)	\$1.00
144	2003 Canada \$5 Good Fortune Hologram & 2005 Silver Maple Leaf of Hope Fine Silver Coins Encapsulated with COA (TAX Exempt). 2pcs	\$45.00
145	2016 Proof Kings of the Continents African Lion 1 oz .999 Silver Coin (Tax Exempt)	\$49.00

Lot	Title	Start
Lot	Title	Price

146	2015 Canada \$20 UNESCO At Home & Abroad: Wood Buffalo National Park and Sichuan Giant Panda Sanctuaries ICCS Certified PF-67 UHC (TAX Exempt)	\$45.00
147	2015 Isle of Man Crown Selkirk Rex Silver NGC Certified PF70 Ultra Cameo; Early Releases (TAX EXEMPT)	\$65.00
148	2005 Canada \$5 Lynx NGC Certified PF 69 Ultra Cameo (TAX Exempt)	\$29.95
149	2014P Australia \$1 Kookaburra NGC Certified MS-69; Early Releases (TAX Exempt)	\$1.00
150	2004 Canada \$1 Poppy NGC Certified PF-69 Ultra Cameo (TAX Exempt)	\$25.00
151	2008 Canada \$1 Poppy WWI Armistice NGC Certified PF-69 Ultra Cameo (TAX Exempt)	\$73.00
152	2014 Canada \$20 Baby Animals - Baby Deer Fine Silver Coin NGC Certified PF 69 Ultra Heavy Cameo (TAX Exempt)	\$39.99
153	2006 Canada \$20 30th Anniversary CN Tower NGC Certified PF 69 Ultra Cameo (TAX Exempt)	\$39.00
154	2007 Canada \$4 Parasaurolophus Fossil NGC Certified PF-69 Ultra Cameo (TAX Exempt)	\$59.00
155	2016 A Historic Reign Maple Leaf Fractional 5-coin set NGC Certified PF-69. Contains a 1oz, 1/2oz, 1/4oz, 1/10oz & 1/20 oz (TAX Exempt).	\$99.00
156	1998 Canada Royal Canadian Mounted Police (RCMP) Privy Mark 1oz. Silver Maple Leaf Set (TAX Exempt)	\$32.50
157	2016 Canada \$20 Canada's Colourful Maple Leaf Fine Silver Coin (TAX Exempt)	\$65.00
158	2015 Canada \$20 The Canadian Maple Leaf Fine Silver Coin (Shaped Like Maple Leaf) TAX Exempt	\$75.00
159	2015 Canada \$10 Colourful Songbirds of Canada Fine Silver 5-Coin Set with Deluxe Box (TAX Exempt)	\$159.00
160	Official RCM Deluxe Collector Case with 2011-2015 Canada \$20 for \$20 & \$25 for \$25 Fine Silver Coins. You will receive 18x 2011-2016 \$20 for \$20 Silver Coins (2011 Five Maple, 2011 Canoe, 2012 Polar Bear, 2012 Queen's Diamond Jubilee, 2012 Farewell to the Penny, 2012 Reindeer, 2013 Hockey, 2013 Wolf, 2013 Iceberg, 2013 Santa, 2014 Canada Goose, 2014 Lynx, 2014 Summer Fun, 2014 Snowman, 2015 Women's FIFA, 2015 Bug Bunny, 2015 Superman, and the 2015 Gingerbread Man), 2015 \$25 for \$25 Canadian Flag and the 2016 Winter Fun \$25 for \$25. TAX Exempt (20 coins total)	\$359.00
161	2016 Australia \$2 Kangaroo 2oz. Antique Finish High Relief Fine Silver (Tax Exempt)	\$94.00
162	2017 Canada \$20 Traditional Pysanka (Egg-shaped) Fine Silver (TAX Exempt).	\$100.00
163	2016 Canada \$20 Majestic Maple Leaves with Drusy Stone Silver (TAX Exempt). Please note the outer box has some light wear.	\$65.00

Lot	Title	Start
Lot	Title	Price

164	Pair of 2014 Canada \$15 Exploring Canada Fine Silver Coins (TAX Exempt). You will receive the Pioneer Mapmakers, and The Voyageurs. Both coins come in Original packaging with COAs. 2pcs.	\$52.00
165	2015 \$20 The Canadian Maple Leaf - Maple Leaf Shaped Fine Silver Coin (TAX Exempt)	\$75.00
166	2016 Canada \$20 The Universe Fine Silver Coin (TAX Exempt) - Capsule is lightly scratched	\$59.00
167	2016 Canada \$20 My Angel Fine Silver (TAX Exempt)	\$59.00
168	2016 Canada \$20 The Universe - NRC Dominion Radio Astrophysical Observatory (#3) with Glow-In-The-Dark Glass with Silver Fume Fine Silver Coin (TAX Exempt) - Tattered outer cardboard sleeve	\$55.00
169	2016 Canada \$15 Police - National Heroes Fine Silver Coin (TAX Exempt)	\$35.00
170	2015 \$25 Christmas Ornament Fine Silver Coin (TAX Exempt)	\$59.00
171	3x 2015 Canada \$20 Grizzly Bear Series Fine Silver Coins. You will receive: The Catch, Togetherness & Family Fine Silver Coins (TAX Exempt). 3pcs	\$119.95
172	Lot of 3x 2015 Canada \$10 Canoe Across Canada Fine Silver Coins - Magnificent Mountains, Splendid Surroundings (Capsule scratched on back) & Serene Scene. 3pcs (TAX Exempt)	\$59.00
173	3x 2015 Canada \$20 Iconic Superman Comic Book Covers Fine Silver Coins. This lot includes the following 2015 \$20 Coins: Action Comics #1 (2011), Superman Unchained #2 (2013) & Superman #28 (2014). TAX Exempt. 3pcs	\$149.99
174	2014 Canada \$20 Autumn Falls Fine Silver Coin (TAX Exempt)	\$39.95
175	2015 Canada \$20 Prehistoric Animals - American Scimitar Sabre-Tooth Cat Fine Silver Coin (TAX Exempt) - Tattered outer box	\$35.00
176	2017 Canada \$20 Weather Phenomenon - Fiery Sky Fine Silver Coin (TAX Exempt)	\$45.00
177	2005 Canada \$5 1oz999 Silver Maple Leaf with Tulip Privy Mark (TAX Exempt)	\$75.00
178	2013 Canada \$20 Maple Leaf Impression (Red Enamel) Silver (TAX Exempt). Coin is lightly toned, capsule is scratched and the outer black cardboard sleeve is tattered.	\$49.00
179	2014 Canada \$20 Royal Winnipeg Ballet 75th Anniversary Fine Silver Coin (The music does not play anymore & Inner capsule is cracked). TAX Exempt	\$35.00
180	2014 Canada \$5 Bank Notes: Lion on the Mountain Fine Silver (TAX Exempt)	\$35.00
181	2012 Canada 1-cent Farewell to the Penny Fine Silver Coin with Selective Gold Plating (TAX Exempt). Outer box is tattered.	\$35.00
182	Scarce! 2011 Canada \$20 Tulip with Venetian Glass Ladybug Fine Silver Coin (Tax Exempt)	\$589.00
183	2013 Canada \$20 Venetian Glass Candy Cane Fine Silver Coin (TAX Exempt) scuffed outer box	\$49.95

Lot	Title	Start
Lot	ritie	Price

184	2014 Canada \$20 Venetian Glass Snowman 1oz Fine Silver Coin (TAX Exempt). Coin comes with all Original Mint Packaging except the COA.	\$59.00
185	2014 Canada \$20 Water-Lily & Venetian Glass Leopard Frog Silver (TAX Exempt) coin comes with all Original packaging (outer cardboard sleeve is tattered)	\$59.00
186	2015 Canada \$20 Venetian Glass Turtle with Broadleaf Arrowhead Flower Fine Silver Coin (TAX Exempt)	\$55.00
187	2016 Canada \$10 Canada Geese Maple Leaf Silhouette Fine Silver Coin (TAX Exempt)	\$39.95
188	2017 Canada \$20 Under the Sea - Sea Star Fine Silver (TAX Exempt). Coin comes in all Original Mint Packaging (outer cardboard sleeve has been taped)	\$65.00
189	2017 \$30 Celebrating Canada Day Fine Silver Coin (TAX Exempt)	\$85.00
190	2017 Canada \$30 Animals in the Moonlight - Cougar 2oz Fine Silver Coin (TAX Exempt). This 2-ounce 99.99% Pure Silver Coin measures 54mm in diameter with a limited mintage of 4000 and features Glow-in-the-Dark technology. Coin comes Encapsulated in the Original Mint packaging with COA	\$85.00
191	2017 Canada \$30 Animals in the Moonlight - Orcas 2oz Fine Silver Coin (TAX Exempt). This 2-ounce 99.99% Pure Silver Coin measures 54mm in diameter with a limited mintage of 4000 and features Glow-in-the-Dark technology. Coin comes Encapsulated in the Original Mint packaging with COA	\$85.00
192	2017 Canada 10-cent Big Coin - Alex Colville Design 5oz. Fine Silver (TAX Exempt)	\$289.00
193	2015 Canada \$20 Looney Tunes Classic Scenes Merrie Melodies Fine Silver Coin (TAX Exempt) - missing outer sleeve	\$50.00
194	2016 & 2017 Canada \$10 Welcome to the World - Baby Feet Fine Silver Coins (TAX Exempt). 2pcs	\$95.00
195	2016 Canada \$20 The Colourful Wings of a Butterfly Fine Silver Coin (TAX Exempt). Outer cardboard sleeve lightly scuffed	\$75.00
196	2016 Canada \$30 Batman VS Superman: Dawn of Justice Fine Silver Coin (TAX Exempt) - capsule is scuffed	\$85.00
197	Beaver Bullion SKULL 1oz Fine Silver Collection (TAX Exempt). 4pcs.	\$1.00
198	Beaver Bullion 1oz, 2oz, 3oz Fine Silver Bars (TAX Exempt). 3pcs.	\$1.00
199	Beaver Bullion 10oz Fine Silver Bar (TAX Exempt).	\$1.00
200	Beaver Bullion SKULL 10oz Fine Silver (TAX Exempt).	\$1.00
201	Beaver Bullion SKULL 5oz Fine Silver Celtic Art Bar (TAX Exempt).	\$1.00
202	Limited Mintage! Beaver Bullion 4oz Fine Silver 'Death' Hexagon Bar (TAX Exempt).	\$1.00

Lot	Title	Start
LOT	Title	Price

203	Limited Mintage! Beaver Bullion 4oz Fine Silver 'Bee Hive' Art Bar (TAX Exempt).	\$1.00
204	Beaver Bullion 3oz Fine Silver 'Day of the Dead' Antiqued Round (TAX Exempt).	\$1.00
205	Beaver Bullion 1oz Fine Silver Bar Lot (TAX Exempt). 3pcs.	\$1.00
206	Beaver Bullion 6oz Fine Silver Bar (TAX Exempt).	\$1.00
207	Beaver Bullion 5oz Fine Silver Bar (TAX Exempt).	\$1.00
208	Beaver Bullion 4oz Fine Silver Bar (TAX Exempt).	\$1.00
209	Beaver Bullion 2oz Fine Silver Bar (TAX Exempt).	\$1.00
210	Limited Mintage! Beaver Bullion 'Hard at Work' 5oz Fine Silver Button & 1oz Fine Copper Round (TAX Exempt). 2pcs.	\$1.00
211	2017 & 2018 Tuvalu \$1 Marvel Series 1oz Fine Silver Coins (TAX Exempt). You will receive the 2017 Spider-Man (broken Capsule), and 2018 Thor. 2pcs.	\$1.00
212	Beaver Bullion 1/2oz Fine Silver Snowflake Button Lot (TAX Exempt). 3pcs.	\$1.00
213	Beaver Bullion 1oz Fine Silver Hexagon Bar set (Tax Exempt)	\$1.00
214	2015 & 2017 Austria Philharmonic 1 oz. Fine Silver Coins (TAX Exempt). Please note coins may contain light toning or nicks. 2pcs.	\$1.00
215	Lot of World 1oz Fine Silver Coins (TAX Exempt). You will receive the 2015 Funnel-Web Spider, 2017 Britannia, and 2017 Walking Liberty. Coins come Encapsulated but may contain toning. 3pcs.	\$1.00
216	Pair of Buffalo/Indian Head 1oz Fine Silver Rounds (TAX Exempt). 2pcs.	\$1.00
217	2016, 2017, 2018 Australia 1oz Fine Silver Kangaroo Coins (TAX Exempt). Coins come Encapsulated. Please note capsules may be scratched. 3pcs.	\$1.00
218	2015 & 2017 Armenia 1oz Fine Silver Noah's Ark (TAX Exempt). Please note capsules contain faint scratches. 2pcs.	\$1.00
219	2002 & 2014 Canada \$5 Horse Privy 1oz Fine Silver Maples (TAX Exempt). Please note coins may have faint spots. 2pcs.	\$1.00
220	Canada 1oz Fine Silver Coin Collection (TAX Exempt). You will receive the 2012 Moose, 2015 Red-Tailed Hawk, and 2017 Silver Maple. Please note coins may contain toning/spots. 3pcs.	\$1.00
221	Pair of 2016 Year of the Monkey 1/2oz Fine Silver Bars (TAX Exempt). 2pcs.	\$1.00
222	Sunshine 1oz Fine Silver Bars Sealed in Original Wrap (TAX Exempt). 5pcs.	\$1.00
223	Scotiabank 1oz Fine Silver Bars Sealed in Original Wrap (TAX Exempt). 5pcs.	\$1.00

Lot	Title	Start Price
224	Silver Gold Bull 10oz Fine Silver Bar Encapsulated (TAX Exempt).	\$1.00
225	Sunshine 5oz Fine Silver Bar - Encapsulated (TAX Exempt).	\$1.00
226	1998, 1999, 2001 Canada \$5 Fine Silver 1oz Maples packaged by First Commemorative Mint (TAX Exempt). 3pcs.	\$1.00
227	2003, 2004, 2005 Canada \$5 Fine Silver 1oz Maples packaged by First Commemorative Mint (TAX Exempt). 3pcs.	\$1.00
228	1999 & 2000 US American Eagle 1oz Fine Silver Coins in Full Colour (TAX Exempt). 2pcs.	\$1.00
229	1993 US American Eagle 1oz Proof (TAX Exempt). Coin comes Encapsulated in Original presentation case with COA.	\$55.00
230	2017 \$20 Ancient Canada - Ornithomimus Fine Silver Coin (TAX Exempt).	\$59.00
231	2017 \$20 Ancient Canada - Ornithomimus Fine Silver Coin (TAX Exempt).	\$59.00
232	2017 \$30 Celebrating Canada Day Fine Silver Coin (TAX Exempt).	\$89.00
233	2017 \$30 Celebrating Canada Day Fine Silver Coin (TAX Exempt).	\$89.00
234	2017 Canada \$20 Hot Air Balloons Fine Silver Shaped Coin (TAX Exempt).	\$49.00
235	2017 Canada \$20 Hot Air Balloons Fine Silver Shaped Coin (TAX Exempt).	\$49.00
236	2017 Canada 50-cent Big Coin - Alex Colville Design 5oz. Fine Silver (Tax Exempt)	\$299.00
237	2017 Canada \$5 ANA World's Fair of Money - Denver Fine Silver (Tax Exempt)	\$47.00
238	2017 Canada \$3 Zodiac Series - Capricorn & Taurus Fine Silver Coins (TAX Exempt). 2pcs.	\$49.00
239	2017 Canada \$3 Zodiac Series - Gemini & Aquarius Fine Silver Coins (TAX Exempt). 2pcs.	\$49.00
240	2017 Canada \$20 Glistening North - Arctic Tern Fine Silver (Tax Exempt)	\$5.00
241	2017 Canada \$20 Glistening North - Arctic Tern Fine Silver (Tax Exempt)	\$55.00
242	2016 Canada \$20 Little Creatures - Snail With Murano Glass (Tax Exempt)	\$49.00
243	2016 Canada \$20 Little Creatures - Snail With Murano Glass (Tax Exempt)	\$49.00
244	2017 Canada \$20 Three-Dimensional Breaching Whale Fine Silver (Tax Exempt)	\$49.00

Lot	Title	Start Price
245	2017 Canada \$20 Three-Dimensional Breaching Whale Fine Silver (Tax Exempt)	\$49.00
246	2017 Canada \$30 Animals in the Moonlight - Lynx Fine Silver (Tax Exempt)	\$89.00
247	2017 Canada \$30 Animals in the Moonlight - Lynx Fine Silver (Tax Exempt)	\$89.00
248	2017 Canada 1/4oz Fine Silver Coin Collection (TAX Exempt). You will receive the \$5 Proudly Canadian, \$3 Spirit of Canada, \$3 Heart of our Nation, and \$3 Vimy. 4pcs.	\$38.00
249	2017 \$10 Celebrating Canada's 150th - Panmure Island Fine Silver Coin (TAX Exempt).	\$25.00
250	2017 Canada \$8 Lion Dance Fine Silver Coin (TAX Exempt).	\$15.00